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1. Consider the following pairs:  

Regional Music  State 

1) Lotia---Rajasthan 

2) Tappa---- Punjab 

3) Burrakatha----Andhra Pradesh 

Which of the pairs given above is/are correctly matched? 

a) 1 only 

b) 1 and 2 only 

c) 2 and 3 only 

d) 1, 2 and 3  

 

2. Consider the following pairs: 

Regional Music  State 

1) Sana Lamok---- Manipur 

2) Chai hia -----Mizoram 

3) Bihu----- Assam 

Which of the pairs given above is/are correctly matched? 

a) 1 only  

b) 1 and 3 only 

c) 2 and 3 only 

d) 1, 2 and 3 

 

3. India’s industrial output contracted 0.8% in August, following the 2.2% growth recorded in the 

preceding month. In this context consider the following statement. 

1) The IIP index is computed and published by the Central Statistical Organisation (CSO) on a 

monthly basis.  

2) The Office of Economic Adviser, Department for Promotion of Industry and Internal Trade 

(DPIIT) has released the Index of Eight Core Industries (ICI). 

Which of the statements given above is/are correct?   

a) 1 only  

b) 2 only  
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c) Both 1 and 2  

d) Neither 1 nor 2 

 

4. Which among the following is not a core Industry 

a) Electricity 

b) Fertilises. 

c) Oil refineries 

d) Textiles. 

 

5. Jhanj Player is a musical instrument played by a lady in a sculpture in which of the following 

temples? 

a) Shore Temple  

b) Kamakhya Temple  

c) Kandariya Mahadev Temple  

d) Sun Temple, Konark  

 

6. Consider the following pairs: 

Theatre  State 

1) Bhand-Pather  Kashmir  

2) Bhavai - Haryana  

3) Maach-  Madhya Pradesh  

Which of the pairs given above is/are correct? 

a) 1 only 

b) 1 and 3 only 

c) 2 and 3 only 

d) 1, 2 and 3 

 

7. Consider the following statements: 

1) The United Nations Charter established six main organs of the United Nations, including the 

Security Council. 

2) While other organs of the United Nations make recommendations to member states, only the 

Security Council has the power to make decisions that member states are then obligated to 

implement under the Charter. 

Which of the statements given above is/are correct? 
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a) 1 only  

b) 2 only  

c) Both 1 and 2  

d) Neither 1 or 2  

 

8. Consider the following statements: 

1) Stockholm Convention is a global treaty to protect human health and the environment from 

persistent organic pollutants (POPs). 

2) It is legally binding and ratified by India. 

Which of the given above statements is/are correct? 

a) 1 only  

b) 2 only  

c) Both 1 and 2  

d) Neither 1 or 2  

 

9. According to India’s National Policy on Biofuels, which of the following can be used as raw 

materials for the production of biofuels? 

1) Cassava 

2) Damaged wheat grains 

3) Groundnut seeds 

4) Horse gram 

5) Rotten potatoes 

6) Sugar beet 

Select the correct answer using the code given below: 

a) 1, 2, 5 and 6 only 

b) 1, 3, 4 and 6 only 

c) 2, 3, 4 and 5 only 

d) 1, 2, 3, 4, 5 and 6 

 

10. With respect to “Lifestyle for the Environment (LiFE) Movement”, consider the following 

statements: 

1) It was introduced by France during the 26th COP of UNFCC in Glasgow. 

2) In India the programme which is part of LiFE will be organised by Central Pollution Control 

Board (CPCB). 
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Which of the statements given above is/are correct? 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

 


